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       Lesson 1: The history of the Israeli economy
The history of the Israeli economy can be divided into three periods:

1948 - 1973 - The first decades.
1973 to 1985 - The Lost Decade.                         Liberalization
1985 to date - The current decades.


The first decades are characterized by deep government involvement and significant central planning - a more socialist regime. The government decides where people will live, which factories will receive benefits, decided on investments, foreign currency and many economic variables. The exchange rate was fixed and determined by the state. There was a government policy to create initiated jobs. In addition, there were subsidies and a price limit for products. This means that the country was closer to countries where there was comprehensive central planning. Ben-Basset's book contains a good breakdown of the significance of government intervention.
It is important to note, however, that the state was socialist, but not necessarily social - Support for the weak was not as high as one might have thought, which was expressed in riots like in Wadi Salib, Black Panthers, etc... The National Insurance Institute was established only in 1953 and the allowances and pensions as we know them today began only in the early 1970s.
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In the early 1950s, there was a significant increase in immigration from Eastern countries. The development towns often received new residents from Morocco - This is because they came towards the mid-late 1950s. The rise of the other East Jewry - Iraq, Yemen, Egypt came before and filled areas in central Israel . Only at a later stage did the policy of population dispersal, designed for security reasons, start placing settlements on the border lines. This is one of the reasons why the gaps between the periphery and the center also represent ethnic gaps.
When the immigration of the 1950s began, there were about 660,000 people in israel, and the emigration was about 700,000 people. Meaning, the population doubled. Hence there is a significant challenge - Both ethnic and economic - finding jobs, housing, geographical challenge – the challenge of developing an industry etc…
Along with the big 'aliyah', we can see rapid economic development (accelerated growth). The graph showing growth from 1969 shows how the GDP per capita rose significantly from 69 to 73, a very moderate increase in the Lost Decade, and then again a significant rise in GDP.
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Usually developing countries grow faster, and then the gap begins to shrink. Israel started in a very poor place and then began to grow significantly until 1973, both because of the reparations, because of the capital brought with them by some of the immigrants, donations and assistance. There was also a very significant industrial development, to create a base - i.e. government production, which is also part of the growth.
The flow of capital allows the Israeli economy to grow. Without this capital we would be somewhere else. This is why David Ben-Gurion agreed to sign a reparations agreement with Germany in the early 1950s. The Israeli government needed money like air for breathing, and without it, it was not able to produce rapid growth. The government is not only involved in the market but also manages it, by operating governmental or Histadrut (Union Labor Federation) companies that deal with construction - The Public Works Authority, Shikun Ovdim, etc.. Also, all of the infrastructure companies are state-owned companies - Electric Corporation Ltd "Estate Etc. The government manufactures and for this purpose it needs equipment in foreign currency 
.
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International Assistance as a Percentage of the Export
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 (
Net Public External Debt
)Another source of growth - International donations and assistance. The percentage of international aid from exports was very significant, and has declined over the years. The assistance is also composed of the reparations (which ended in 1964); donations from foreign organizations - JDC, Bonds, Kakal etc; and from American aid (which started only in the late '60s). [image: ]
Growth is also achieved as a result of the increase in the national debt. The state was required to import heavily, and when there were no exports or donations, loans were needed. National debt in the years 1964-1984 grew. This is because the government is growing and wants to produce and develop more, and its ability to achieve the funding from taxes is low. When reparations ended and donations from abroad were insufficient, US aid has not yet begun, and the money that was needed was actually provided from raising the debt. 
When the government controls the value of money, it often has an interest in determining a value that is greater than the real value. This means that there is a fixed exchange rate and there are also restrictions on opening accounts abroad. There were very high taxes on investing abroad, and therefore there was no incentive for Israelis to spend their money outside and invest abroad. In contrast, letting the market decide led to erosion in the value of the shekel, since until advanced stages the Israelis did not believe in the purchasing value of the shekel.
 (
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Government involvement in the economy is also evident in the size and expenditure of the public sector. The graph shows that in the 1960s the GDP of the public sector amounted to about 30%, and in the 1970s it increased to 80% of GDP -Indicates a sharp increase in government expenditure. The increase is not only in defense spending. Security rose from 10%to about 30% of GDP, meaning that it could account for 20% of the value of immigration, but not why we reached 80% of GDP. Another significant component is welfare - Since the allowances began in the 1970s.
It should be noted that since the 1990s, the share of the public sector in GDP has been declining again, and today we are closer to 40%. However, in real money, the sums are much higher, in view of the development of the economy, since both GDP rose and government expenditure increased.

The Lost Decade - Concurrently with the increase in the GDP of the public sector, it can be seen that the deficit also increased - Between the 70s and 80s it stands at about 20% of GDP (for the sake of distinction - Today we talk about 2-3 percent of the deficit). The deficit was partially financed by the Israeli public, which means that the tax payments have also increased and forced the public to pay "compulsory loans” to the state.
How did the government deal with the rise in the public sector deficit and expenditure in the 70s? By printing money. But printing money creates a price increase - Inflation. And the more printing it takes, the more inflation (hyperinflation). When the shekel weakened through purchases within the country, it is also weakened by purchasing power against other currencies (depreciation).
 (
Inflation, in Percentage
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In the graph illustrating this, we can see that in 1984 there was an all-time high in inflation - 450%. Inflation illustrates the increase in debt - the gap between income and expenditure that is at the heart of the problem. Today, however, inflation is almost zero. The increase in debt starts from 67, but peaks in the 1970s and 1980s.
There is also an impact on international crises in the economy - the 1973-1973 oil crises that affected inflation throughout the world and also led to the recession, the Arab boycott that affected the Israeli economy.
To this must be added the fall of the stock exchange in 1983. Banks were mostly private, but the economy was very centralized (which still exists today). This means that all the financial assets were in the bank - investment consulting, credit cards, etc. Investment advisers of the banks advised the public to buy their shares - the regulation of shares. This led to the inflating of the value of shares and the creation of a crisis, as this caused the public's financial assets to lose significantly their value. In fact, it is a bubble, and when it crashed, the banks collapsed and were nationalized by the state. When the state took upon itself the debts of the banks, this led to a further increase in debt and an increase in inflation.
In 1977 - a political upheaval, although it should be noted that its economic importance was less than political importance. All in all, the Likud government continued with the same economic policy that had already begun. However, within the Likud Party there are also members of the liberal right-wing Gahal, which demand privatization and reduction of government expenditure. During those years began a process of liberalization and Israel moved from a fixed exchange rate to a floating exchange rate. This led to a significant drop in the value of the shekel and to depreciation, leading to inflation (because it raises import prices) and to an increase in debt, which led to the opposite of what was expected - the debt rose even more.
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In 1985 - The Israeli economy is in an economic crisis, the debt is soaring, hyperinflation. Israel survives only thanks to foreign aid. The Israeli government (headed by Shimon Peres and Modai as finance minister) understands that a change is needed, prepares the stabilization plan - July 1985. In an unprecedented manner, the three main players of the economy -Histadrut (which was very strong at that time), industrialists and government representatives, reached agreement whereby each party will remain and will save the economy, by a kind of "Restart", namely - Temporary price freeze . A temporary law was passed prohibiting the raising of prices. In addition, the Histadrut agreed to a temporary wage freeze. Again a fixed exchange rate was declared. In fact, we are freezing the situation and restarting. Add to this a budget cut (in order to reduce debt and deficit). This is the stage at which government expenditure has begun to fall (as can be seen in the graph of the GDP ratio of the public sector). This period also features processes of liberalization and the reduction of the government. 
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The current decades - Are mainly characterized by liberalization.
The most important element of liberalization is privatization, but it also has other components. The State of Israel has again privatized the banks that were nationalized in the wake of the stock crisis, Solel Boneh, Shikun & Binui, partial sources and more. Privatization generates revenue for the government. In addition, there are claims that private individuals also know how to manage better - So companies earn more and generate more income from taxes. I.e. double income - Both from the sale of the company and from the tax received due to an increase in profitability.
Privatization has also led to layoffs , but Ringforts says the dismissal has an advantage , since in a situation of full employment, the laid-off workers can also find other jobs , while the factory from which they are fired earns more , as they continue to earn the same income and pay less .
Another important component of the liberalization process - Structural changes, which are divided between opening and trading and between a branch structures.
Industrial Structure - When a branch is highly concentrated (in a government or private company) and monopolistic .Therefore, he can afford to raise prices and produce low quantities. Structural change leads to a more competitive market by opening it up to several firms. A clear example in 2011 - The Cellular Revolution. This change has also occurred to some extent in the electricity and water sectors, as well as in additional industries.

In recent decades there have been a number of effects on the economy - Russian immigration, high-tech, inequality and soon.
Until 2004 was a significant increase in inequality, but inequality in recent years stopped (you can see it on the standard of the genie).
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Additional points that came up in class

It is customary to measure debt as a percentage of GDP. Today, Israel is 60%, while in 1985 it was 150-200% and in 2000 it was 100%.
A non-economic examination indicates that life expectancy in Israel has also been increasing since the 1950s until today.
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An examination of the industry composition in relation to the distribution of GDP compared with that time and today indicates that in the early 1950s, Israel was a very agricultural country - 14.6 compared with 2.3 in 2010.

Services - From 49.4 in 1952 to 66.4 in 2010. The service component has grown over the years as part of the development of the economy.

Industry - Rose from 24.4 in 1952 to 21.7 in 2010. Industry grew in the 1970s to 34.8 but began to decline thereafter.

Construction (including electricity and water) - From 11.6 in 1952 to 9.6 in 2010.
 
As a trend - It is possible to talk mainly about an increase in services and a decline in agriculture.
 
Another trend that can be discerned over the years - Fertility issue. At the beginning of the period, Muslim women had nine children and today they have dropped to 3. The Christians and the Druze's also descended. There is also a decline in fertility among the Jewish population (excluding the ultra-Orthodox). In general, Israel is among the most fertile countries among the OECD countries. 

The liberalization process has been increasing in recent decades, and is reflected in many reforms in the economy that still exist.                                                                             


[image: ]Lesson 2:  GDP and Growth (based on the online rates as well)

GDP Per Capita, In Thousands of NIS (2005 prices) 
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GDP per capita from 1969 to 2006 jumped more than twice. GDP is a measure of the economy's ability to produce. The Central Bureau of Statistics measures the product by measuring the consumption side (not the source but the uses, this is especially true in a closed economy) index is designed to examine the possibility of our consumption, the material well-being of the economy.
Closed economy: GDP equals government consumption + private consumption + investment
Open economy: In Israel part of the consumption is of course the products produced abroad, so we add to the GDP the net export NX (i.e. the export in reducing the import).
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The product (in fact, consumption) is a fairly good indicator of production, and therefore also of the economy's consumption potential as a whole, and this is related to welfare - the material standard of living of the citizens.

· What product doesn't measure:
· A black economy that cannot be measured (in Israel, its estimate is 10%)
· Household activity: We will count the deal of a housekeeper ( if she reports ...), but not when we wash the floor in the house , even though it is the same value of service performed .
· Another problem: measuring production and seek to use it to measure quality of life, in which there is more than just material aspects measured in money (e.g., recreation or environmental condition) 

Nevertheless, a two-fold jump in Israel's annual product also indicates a significant increase in the average standard of living of the average Israeli and in the quality of life - This is reflected in life expectancy, flights abroad, "the size of the apartment, the amount of clothes, communication and culture, all of them significant increase. 
Israeli GDP per capita as a percentage of GDP per capita[image: ]

However, compared against GDP per capita in the United States "in, our significant growth stopped and since the70s, we stand around 65% of GDP Lara" in...

GDP in Different Places in the world 1000-2001
 (
Year
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Comprehensive and historical examination of world GDP growth:
· 1000 years ago there was no difference in output between the continents.
· Western Europe (400 in 1000):
· 500 one year "as - An increase of less than 2 times
· Another 500 years later another 25- fold jump!
· The main leap - industrial revolution and technological revolution
· With the onset of technological changes, the enormous gap between the continents was also created
· Some of what "material growth" is not expressed in the index - has significantly increased-quality products without whose prices have risen, and maybe even declined (computers), and products that once were and even cost significantly, and today the network can be obtained for free (content)]

Long - Term Growth
1. Increasing investments K - in the sense of physical capital ( machinery , equipment , finance )
2. Labor Force ( Employees ) L
3. technological progress A

Production function: Y = A * f (K, L) Production as a function of {physical capital and labor} X technology

There is a constant dilemma between private consumption and investment If elected in only should not allow investing in favor of the future, not only investment should now enable (exist: such as wheat - Whether to consume as bread or sow to produce wheat next year too ). An optimal balance is required between the economy and investment, and in any case the investment is limited and not infinite
Technology:
Israel today produces more agricultural output than what was created at the time of the establishment of the state, all with fewer workers, but in view of technological improvements - Such as drippers, which led to reduced water consumption and increased production, the use of fertilizers... 
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Barriers of Growth:
There are barriers to potential growth in the long term - political instability, the security situation shaky, etc. "(illustrates the differences between Eastern Europe and Africa in terms of GDP per capita in 2001 are not necessarily due to lack of work and resources, but the translation to capital and the ability to invest, also because of the risk of investing in These).



The volatility in growth in Israel - business cycles
[image: ]
· Up to 73 growth is very high and volatile
· Since 1973, growth has been more moderate and less volatile
· Israel of the first years is different from that of recent years.
· In the graph, it is difficult to see the business cycles, but it can be seen that growth in several episodes is negative (52'053 ', '66-67', in the late 1980s, 2001 and 2009).

Reasons for business cycles:
1. Demand Market ( shock to demand )
2. Supply market
3. Monetary policy
4. Ed factors - induced narrowed down, disposable (natural disasters, wars

The dominant factors are the market for demand (the most significant factor) and the market for supply.
Market (shock) to demand
Keynes Load That humans are conducted in a way that sometimes optimistic and irrational (animal spirit) For example, investments in the stock market, real "estate Bitcoin (" Everyone invests "). Decisions based on optimistic or impulsive perceptions. On the other hand, when there is an advertisement that "blows up the bubble" demand is getting a negative shock. Market (shock) in demand - a situation of exceptional and unexpected change in demand of the public. For example due to terrorist activity in the intifada the second fell unexpectedly demand for the tourism market in Israel. The shock could be positive mainly by the flow of demand by the government, which Keynes meant when he talked about creating a multiplier in government investments in order to emerge from a recession. Demand was shaken by a wave of "optimism" (which is not always explained) that leads to increased consumption and investment. In addition, for a small economy like Israel, an improvement in global trade is a shock to demand for Israeli exports.

Market (shock) to supply
Technology does not necessarily develop at a uniform rate, the crisis of 2001, can also be explained by the lack of linearity in technological improvements. In 2000 there was a record of high-tech bubble, which exploded. But the shock (in supply) is not necessarily related only to technological improvements. This is a sudden change in the quantities or prices of products consumed in the market. For example, a negative supply shock occurred in the 1970s due to the oil crisis and the creation of an artificial shortage of oil and an increase in the price, which caused a halt to growth in the West. Such supply shocks can also be positive, for example, the effect of open sky policy on airline prices or the cellular reform that created a flood of supply and dramatic price declines in a certain area, which could have an impact on the entire economy. Another example of what further supply shocks (positive): After 67, entry of workers from the territories into Israel enabled cheap labor.

In summary: human nature is overly optimistic and therefore excessive acquisition and then falling ceiling in a cycle and parallel technological development occurs in a nonlinear way and therefore here too the cycle is expected.  

The Israeli economy
"Pulse check" of the Israeli economy, by examining growth rates.
Growth - Growth in GDP
Recession - Decline or stagnation of GDP: The popular definition is two quarters of negative growth
Slowdown - An increase in GDP below the average

Let's look at the recession of 1952-53: We look at the years 51 to 55 and examine product by its components (investment, public consumption, private consumption, exports, and unemployment). We can see a trend of significant slowdown in GDP, a decline in investment and in public consumption, and a slowdown in private consumption (ostensibly a demand market). A similar trend can be seen in 1953: Israel in its early years, years of austerity, in Israel does not have much foreign currency. Lack of resources leads to a decrease in consumption .The reparations agreement with Germany comes in 1953 and therefore leaves the crisis in 1954.
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Let us examine the recession of the years 1966-67: In 1964 the reparations end. Until 1965 there was a certain increase in GDP, an increase in consumption and exports, and low unemployment. In 66 ' GDP becomes 1%, that is, there is no growth , the investment drops significantly, private consumption drops significantly , exports increase, and unemployment rises . The decline in private consumption points to a market for demand (see also the decline in investment). When we emerge from the recession we can see a large investment, growth in consumption, a significant increase in production and a decline in unemployment.
In general, it is customary to say that wars help to emerge from recession - In the short term it returns to a state of growth due to production in the economy.
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The 1989 recession is less significant (Slowdown): GDP is indeed declining, but the gaps are not so significant, the decline in investment is also relatively low, public consumption actually rises. Private consumption fell significantly and unemployment increased - A recession of demand (Yossi Zeira links to the first intifada, will lead to the stabilization plan and subsequent economic processes). The stabilization program produces many changes in the economy - Beyond the capitalist economy designed interface, created creative destruction. Many factories are closed, unemployment is growing, and profit is far. The opening to imports paid off, but in the short term one can see problematic effects. 
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The recession (?) Of the years 1997-99:
GDP declined (rates of change in GDP growth rate), investment declined, public consumption fell, private consumption fell slightly, manufacturing contracted, and unemployment remained at a similar level. Is this a recession?
We will refer to three different definitions - Growth, slowdown and recession. Definitions that are relevant to Israel, but in the developing economies the definitions are slightly different. The question is where we are in circulation - In Israel, fluctuations in GDP growth rate sometimes fall below zero. Elsewhere, where the growth graph is more steep, there could be a situation in which the slowdown will be considered a recession. According to these definitions, this is not a recession but a slowdown. Growth is a term that deals with GDP and GDP is only an expression of all the sources and uses of the economy. It is possible that the source of the growth will affect our conclusion regarding whether this is a recession or a slowdown.
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Eyal Argov: There is not necessarily an official definition of the term "recession" (equates to the term "war"). The popular definition is two quarters of negative growth. USA "in many indicators in order to characterize the period, and the fact that the indicator dropped one or two will not make the situation a recession. It is also important to distinguish between a recession and slowdown, where growth is slower than the growth capacity of the business.
The recession of 2001-2003:
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After great growth in 2000, there is a sharp decline in all parameters - GDP is almost zero, investment is negative, private consumption is declining. In 2003, too, low data can be seen, and at the same time there is high unemployment. In 2004, recovery is evident in the data, excluding public consumption (due to cuts). This was created as a result of the bursting of the dot - com bubble and the second intifada. Eyal Argov adds the difficulty of economic leadership in 2001-2002, struggles between the Bank of Israel and the Ministry of Finance. The State of Israel of that period with a debt equivalent to 100% of GDP, and the Minister of Finance decides to cut the budget in 2003,

The recession of 2009 -8 (crisis in sub -prime);
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US recession later "in the year 2008, one can see a significant drop in output, investment and exports. Event is much localized, so you can see that in 2010 there was an increase in all parameters (Although other countries still shows signs of distress associated with this recession).
Real crisis " Real World:
Decline in real estate prices " was due to the increase in interest rates in the United States " in that also brought increasing amounts of the refund borrowers mortgages and those who were unable to meet pay and when they wanted to sell the apartments to repay the mortgage encountered a slowdown in the property market " estate in the USA " by then left the apartments banks ... ( a few years earlier , The United States enacted two laws - one allows for easing conditions under which problematic borrowers will receive loans , and the second allows to obtain a mortgage on the full value of the property without giving an advance from own sources ).
In order to understand why there was a dramatic blow to the US capital market and its aftermath in the world, it must be understood that in order to finance the granting of mortgages to problematic borrowers, the banks that gave the loans turned to securitization. Refers to a financial instrument that allows to receive money now against future cash flow should reach - in this case, the periodic repayments of the mortgage. These financial instruments are traded in the capital market and considered safe instruments ... Therefore, when it became clear that cash flow of the debts evaporated, all banks, investment entities and pension funds holding them - were left without anything, then began to collapse;   Assets sold to banks that were not equal, have led more banks could not give loans, which hit manufacturing and this has created a financial crisis. The real estate bubble, "estate in the United States" in a similar bubble created in Europe and the US when it exploded, it had an impact on American bubble.
Reasons for moderate influences in Israel:
1. The stability and conservatism of the Israeli banking system (which did not purchase the risky mortgages) enabled the preservation of the situation here and significantly reduced the effects of the global situation in Israel.
2. This crisis actually caused some increase in investments in the country: money previously invested in real "estate abroad" to investment in the country was allocated. 
3. Russian immigration: the significant increase in demand for housing due to the increase is over No. ' years ago and so in 2008 the United States " in housing prices collapsed , we were at a low point of the cycle of real " estate , was not Israel bubble real " estate and had to prices where plummet 



More Insights:
· When people enter the labor market during a recession, it can also affect them in the long term. They start a harder job market, at a lower wage, perhaps a less good job, so the starting point is lower. In addition, the individual's income is also affected, and this also affects the income.
· If we look at total government expenditure divided by GDP over time, we will see a decline from 1985 to2018 (a shift from a centralized and socialist approach to a cut in the size of the public sector). If we look at the same figure in the OECD countries, OECD We can see that around 2003 public sector expenditure reached an average, and after 2003 there was a decline below the average level. The decline until 2003 is difficult to argue about and is natural relative to size, but the decline after 2003 has already entered into budgetary discussions that affect the slope of the decline. In recent years, things have fallen below average, but are stabilizing.
· The recession of the 1970s was mainly due to the rise in oil prices and the diversion of the government budget to the security situation after the Yom Kippur War 
[image: ]
· There is coordination mechanisms to what is happening in the international arena, “the recession will be and usually associated with similar processes in other countries. However, there are also more local recessions (such as the recession in Israel - 52).

Dealing with the recession - classic approach and Keynesian approach
The classic approach - no need to intervene. The economy consists of competitive markets that will create equilibrium. Intervention has a price and is not at all sure it has any benefit. In the long term, the economy will recover and return to growth.
Keynesian approach - "In the long term we are all dead," there is enough harm to people and their short-term welfare that justifies government intervention

Two approaches to intervention:
· Budgetary intervention ( fiscal ) : namely an increase in public consumption ( G) - Government responsibility
· Monetary ( monetary ) intervention : that is, an effect on the amount of money at the time of the economy - under the responsibility of the central bank .Impact on the amount of money that can be, for example, by " the change in interest rates ( making loans more or less payable ), buying / selling foreign currency. "
 

The multiplier Keynesian: Keynes argues that changing demand of GDP by increasing government spending (G) or a reduction in taxes (in both cases there is more money available in the market at the expense of an increase in the deficit) will lead to another change in GDP (usually a larger one). This is a change in demand for the product will lead to a chain reaction which ultimately will increase the consumption (C) And change the product (Y) than most of the original change. This intervention should be limited in time, because it increases the deficit.  
The difference between the dollar invested by the government, and the increase seen at the end - Y (To be generally more than a dollar) is the multiplier Keynesian. In terms of Keynes right to perform deliberate actions that have no apparent purpose, will help the business cycle. As mentioned above, there is no need to increase spending, it is possible to reduce taxes - the individual will have more money, which will lead to increased consumption.

Criticism of the method -
· Keynesian approach is good for the short term, but in the long run we create a cumulative deficit and debt to the country.

· In reality, there is no obligation that the Keynesian multiplier be positive, it ranges from 0.8 to 1.5. Why? If the government increases spending and gives citizens the money, what will the citizen do with the money? A rational and forward-looking person, he will save because he will understand that it is expected to raise taxes. Therefore the multiplier will not be above 1. (Ricardo equivalence argument).

· The Bank of Israel's low interest rate approach is actually an expression of the Keynesian approach. The same is true of the Ministry of Finance, which increases the deficit. The result is that today the country is growing.

C, John Maynard Keynes - Extension
1883 to 1946 involvement in governmental affairs led him to become a member of Britain's economic delegation to peace negotiations at Versailles at the end of the First World War. However, he resigned from this position after feeling that the compensation agreement imposed on Germany was unreasonable and draconian. Immediately upon leaving the expedition wrote the book ”The Economic Consequences of the Peace ", in which he warned that the surrender terms imposed on Germany Treaty of Versailles will contribute to creating a severe economic crisis in this country , which he believes will lead to another war in Europe , as indeed happened . Main countries Katz, Churchill, Churchill and Roosevelt were helped it a lot, activity Laid the foundation for the establishment of the International Monetary Fund and the World Bank.
Keynes argued , in a precedent-setting , Belmaker - about the bride legality different becomes clear - the economy due to the impact of various factors in one at each function are different , because Scshmgzr private ( families consume ) decides to reduce the amount of shopping weakened business sector and directly decreases the amount of revenue Of the private sector .
Keynes argued that in a recession the government must create a deficit, and through it invest in the economy in order to create renewed growth. According to Keynes, government savings increase the recession, and the right way out of debt is by investing even more money.

Class 3: Monetary Policies - Money, Inflation, and Exchange Rate (Dr. Eyal Argov)
Growth refers to quantitative growth in real activity - how many products we sell.
Monetary economics deals with the monetary value of what we sell. The revenue of a business can grow either from an increase in the sale of products or from the rise in prices, and in the monetary economy we deal with prices.
Key concepts in monetary economics: money, inflation, exchange rate and monetary policy.
What's the connection between economics to national security? Prime Minister Netanyahu described in his address to the UN on 27/09/2018 on the effect of the sanctions against Iran's economy. The Economy shrinks, unemployment rises, the exchange rate goes down, and inflation rises. All these are significant implications from the macroeconomic perspective.

Market and Money: the Theoretical Foundations of Monetary Economics
Economics is not the science of money, but that of allocation of resources. 
Money - any object used as a socially acceptable and legal means of exchange as payment for products, services and disposal of debts. 
Purpose of money:
1. Means of exchange
2. Unit standard with value.
3. A means to keep value
The basis of money: cash in the public + the reserve in commercial banks
Money supply (M1): Total means of payment = Cash held by the public + current account at commercial banks

Only the central bank issues base money - it has been given a monopoly from the state to do so. 
The real purchasing power is the base of money.
In Israel, the monetary base is about NIS 120 billion and the money amount is about NIS 380
Money is not just cash, there is also money that is in the banks - deposits and current accounts. Adding banks to the economy created additional money:
For example: I deposit 100 to the bank, then the bank lends out 80 - the sum total of money is now 180.
Commercial banks do not hold all the money they owe to the public - that is, if the public wants to withdraw its demand deposits, the bank will not be able to give it. A considerable characteristic of a financial crisis is loss of faith in the financial systems and the bank: an attempt to withdraw all the money from the bank, and then the banks cannot supply the demand. Meaning that the existence of a banking system is dependent on the belief that the system is stable, so that not all the money will be withdrawn at once.

The Demand for Money
The alternative to holding money is a deposit or bonds, which are not liquid but yield interest. Interest is actually the price of holding money - that's what we lose when we hold our assets in the form of money and not in another way. 
Factors influencing the demand for money:
1. Interest - the higher the interest rate, the more we pay for holding liquid money. 
2. The financial scope of economic activity - the more economic activity is required, the more money necessary to sustain this activity. 
3. Efficiency and transition from deposit to money.
4. Inflation. When there is a price rise it erodes the value of money and holding money in cash loses value as inflation rises 

Monetary Policies - tools for regulating the amount of money in the market (including its cost - interest rate) by the central bank in order to achieve economic goals (i.e. stable prices). 
1. How can the central bank regulate the basis of money? 
2. Financing of government activity ("printing money", in practice or by changing the amount of the government's account at the central bank).
3. Loan to commercial banks for interest. If there is a commercial bank that wants to give loans and has no money in reserves, it'll borrow money from the central bank for interest.
4. Working directly with the public by way of taking loans - offering the central bank's bonds in exchange for interest.
5. Buying foreign currency or local assets for shekels. Mainly, the central bank can print shekels and buy through foreign currency.

A key tool is a change in the interest rate (the price of money) in order to meet the desired amount of money in the economy: a lower interest rate means greater money supply.

 (
Bank of Israel Interest Rate
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Inflation:
A phenomenon of a continuous and wide rise in the level of prices in the economy. I.e. - a decrease in the local value of the currency.
It is customary to measure inflation according to the (annual) rate of change in the Consumer Price Index (CPI).
The Consumer Price Index (CPI) follows the price of a product basket of an average household representative in Israel.
[image: ]Much energy is invested in collecting data regarding the price index, in order to be as precise as possible.
What does inflation look like in Israel? From a long-term perspective since 1952, we can see mainly the great peak of inflation, and the big jump in 1984. In recent years inflation has fluctuated between negative and 6 percent, meaning that it is low. At the same time, it sometimes deviates from the target and the expectations it had.

Why is inflation a negative phenomenon?
High Inflation:
1. Erodes income and value of assets that are not indexed to the CPI
2. Harms the payment chain (the lower you are on the payment chain, the lower the payment value)
3.  Changes economic behavior (buy early because the price will rise). This is one of the most difficult phenomena. People get paid and need to buy their needs immediately, otherwise the value of the products will go up and they will not be able to finance them;
4. There is a cost of running from inflation (holding accountants, payroll accountants). A great deal of waste on people who will adapt themselves to high inflation;
5.  Hurts a national symbol - the money was issued by a national body, the central bank, which is part of the state's institutions. As soon as its value drops, it means that we received less from the government. 

Unexpected Inflation
1. Makes it harder to plan economically
2. Ruins relative prices (between products)
3. Erodes the value of assets / no indexed  loans
4. Lowering inflation is usually caused by a rise in unemployment

On the other hand, low inflation can make it harder on the price market as the prices struggle to get lower.
In Israel, low inflation is between 1-3%

[image: 111] (
Israeli Coin Exchange Rate to USD – 1954-2008
)Exchange Rate - the cost to convert one currency to a different one 
Devaluation in the exchange rate - a decrease in the value of the local currency> i.e. more shekels for each dollar.
Appreciation in the exchange rate - an increase in the value of the local currency> i.e. less shekels for each dollar.

It can also be that there will be devaluation against certain currencies and appreciation against other currencies, due to the relationship between these currencies between themselves.

Economic strength of the appreciation was created when the Israeli currency became desirable / attractive in relation to other currencies:
· Increased demand for local economic activity and investments.
· Excess of exports over imports - trade balance. Exporters are recognized abroad and receive foreign currency, but they have to pay wages in shekels. If there is a great deal of exports, the exporters are putting in a lot of foreign currency, but there are not many importers who want to buy foreign currency. Therefore, we will be surplus domestic supply of foreign currency and this raises the value of the local currency.
· Increase in interest / yield on local assets. If our interest rates are higher than those in other countries, residents of other countries will seek to invest in Israel by buying shekels.
· Expectations. 

· Exchange rate regimes –
· A floating exchange rate - allows the price of the currency to be determined by the market.
· Fixed exchange rate - The central bank wants to determine the exchange rate. For example, NIS 3.5 per dollar. If there is a lot of demand for shekels, the bank can print shekels to give to those who want shekels for dollars. In the other direction it's a bit more complicated - if demand is mainly for dollars, the central bank cannot print dollars, but it can sell if it has balances.
· There is also a managed exchange rate / exchange rate in the middle.

The economic factors affecting inflation:
1. Production costs - inflation is the price at which we sell in the market, and the higher the cost of production, the higher the prices will be. The main effect is because of the cost of wages - the higher the wage the higher the costs will rise.
2. Prices from abroad - for example, if the price of fuel in the world rises, it will affect the products in Israel that are dependent on oil.
3. Aggregate demand - If there is a large demand in the economy, given supply, prices will start to rise.
4. Unemployment - The higher unemployment we have, the more there is pressure for wage decline in the economy, because people will be willing to compromise on wages, production costs will fall, and inflation will fall. In other words, there is an inverse relationship between unemployment and inflation.
5. Inertia mechanisms - High inflation will often have a high inflationary effect, due to linkage mechanisms in the economy that link wages to the cost of products.
6. Expectations - If there is an expectation that prices will start to rise then I will also begin to raise prices on the services / products I manufacture.
7. Exchange rate.



Monetary implications mechanisms:
	Action
	Short term
	Long Term

	Lowering interests
	A rise in the amount of money
	

	Rise in the amount of money
	Rise in growth
	Rise in prices + lowered exchange rate



How does monetary policy affect inflation? In classical thinking, increasing the money supply (printing money) will lead to an increase in prices, a decrease in the value of money and, consequently, a depreciation of the exchange rate.
In modern thinking (Keynes) the thought is that in the short term there is price rigidity, investing money will lead to more economic activity - that is, we will reach a phenomenon of growth, increase in GDP and decrease in unemployment.
Today, countries think and work mainly through the interest rate, since they believe that the connection between the increase in money and the increase in economic activity, but believe that the relationship is not stable enough. On the other hand, the correlation between an increase in economic activity and interest rates is more stable. The main tool that allows the central bank to control interest rates is that only it can issue money within the economy.

High Inflation in Israel (1973-1984).

Over the course of 10-15 years, inflation leaped to exceptional and significant proportions.
What were the main factors behind the rise in inflation?
1. A high deficit in the government budget. In 1973, defense costs increased, leading to a deficit. Part of the deficit was financed by printing money. Increasing the amount of money leads to a decline in the value of the currency.
2. The oil crises of 1973 and 1979. The real price of oil barrels increased in those years, and this created local inflation. The price of oil in the world rose, leading to higher oil imports. It also created a deficit in the balance of payments - increased all imports and did not increase exports, creating a shortage of foreign currency and hence a devaluation that pushed prices higher. Excess use of foreign currency, which reached 5-10% of GDP (today we are in the opposite position - surplus in the balance of payments).
3. A failed attempt to liberalize foreign currency in a situation where the market is in deficit caused foreign currency to leak out and cause depreciation. For comparison, in 1996, when the economy was in good shape, a process of liberalization in foreign currency was resumed, which this time worked, since the basic problems of the economy were addressed.
4. Crisis regulating the banks' shares - the government nationalized the banks after they inflated the value of their shares, and this imposed very heavy expenses on the government. The expectation was that the government was going to finance the rescue of the banks by printing additional money - and this expectation led to a further rise in inflation.
5. The multiplicity of indexation mechanisms in the economy (if A then arises also in B). The proliferation of such mechanisms creates a rolling process of inflation.
6. Monetary adaptability, in the absence of a nominal anchor - that is, monetary policy did not stop inflation but adjusted itself to it. For example, a price market was created due to the increase in oil prices; monetary policy has increased the printing of money and has entered the tailspin. The reason for this is that there was no good separation between the fiscal policy of the government and those responsible for printing the money.
7. It seems that part of the problem was that there was not one body whose job it was to handle things and stop inflation
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[bookmark: _GoBack]In the middle of 1985, when the understanding that inflation must be stopped, under the patronage of the unity government, the following plan was launched, which was launched on 1/7/1985.
The program has four main components:
1. Reducing the government deficit. A very difficult step for the government, which ended in reducing the deficit from 10 percent to around zero. The reduction was also in defense spending, subsidies and tax increases.

2. Nominal anchor - fixing the exchange rate of the shekel against the dollar (NIS 1,500 - $ 1). It was not easy, since the currency was unsettled and people wanted to "escape" from the shekel. There was concern that people would attack the dollar, and in order to strengthen this policy, the government used special assistance from the US, which increased Israel's foreign exchange reserves and raised the credibility of this policy.
3.  Freezing wages and prices, in cooperation with industrialists and the Histadrut. This moratorium - which was temporary - allowed for the initial start of the process.
4. The Absence of Printing Law + the Arrangements Law. The law of non-printing states that the Bank of Israel is forbidden to lend money to the government. The Bank of Israel is the government's banker, and according to the law, the government is forbidden to "minus" its bank. In fact separating the money-printing machine from the government. At the same time, they also began to work with the Arrangements Law - a draconian law that allows the government, along with the budget, to mend many reforms within the economy.
5. The result of the stabilization program is an immediate fall in inflation, to about 20 percent, and then a long process of falling inflation to the western level, as exists today. In the process, foreign currency was successfully liberalized.

Bank of Israel and monetary policy today
In 2010, the Bank of Israel Law, which established the Bank's functions, was enacted:
- Managing monetary policy (today it is done by setting interest rates).
- Holding and managing the country's foreign exchange reserves. The bank is the one that invests foreign exchange to issue the greatest return to the country.
- Support for the regular activity of the foreign exchange market.
- Serves as a banker of the government.
- regulates the payment and settlement system in the economy. This is a great responsibility with the meanings of national security. Clearing - This means arranging an account when transferring money between each other. The Bank of Israel is the high clearing point in the transfer between banks. The operation is even more complex when it comes to immediate settlement (the Zahav system - credits and transfers in real time), which is done in large transactions, and if such systems do not exist, it is impossible to conduct economic activity in the economy.
- Currency issuer. It is the bank that prints the cash, replaces old bills with new ones, etc.
- Supervision of the banking system in which the examination is conducted that the banks are operating properly, in a durable state and in a reasonable state of affairs, be able to meet their obligations.
- The Governor serves as the "economic advisor to the government." And therefore expresses itself in various economic issues that are under government responsibility. There is certain confusion between what is the responsibility of the government and the Bank of Israel, but in this the Governor is only an adviser.

Bank of Israel targets and monetary policy - The law defines three objectives:
1. Central objective - price stability. Price stability is defined in the framework of a government decision. Since 2003, the government has defined price stability as an annual inflation target of 1-3%.
2.  Supporting other objectives of the government's economic policy, especially growth, employment and narrowing social gaps; all as long as it does not affect price stability over time (i.e., a flexible inflation target regime). Although the issue of narrowing social gaps has been recorded in the framework of the goals, it is clear that this is not entirely consistent with the tools available to the Bank (interest rate change).
3. Support for the stability of the financial system and its regular activity.

Low interest> It does not pay to save, it pays to borrow> Increasing spending and investment> Encouraging growth

Until a week ago, the interest rate in Israel was 0.1 - zero interest. It is difficult to lower the interest rate below zero, for example, the negative interest on current account deposits, which will cause the public not to keep its money in banks, but to withdraw it and keep it in cash. To withdraw all of its money from the banks, and that it is possible to hold a certain level of negative interest, without it happening, and a low or negative interest also encourages investments as another way of obtaining a return on the money.

The level of inflation in recent years is low, but when inflation is expected below the target, the Bank of Israel must act. Inflation is too low, prices may be high, especially if it is negative over time (deflation). If prices go down over time, the consumer will postpone his purchases, which means a drop in demand. This will lead to even greater reduction of prices and downward deflation. Therefore, economies are concerned about a situation of negative inflation over time.

The main factors behind Israel's low inflation:
1. Increasing competition in the economy. Part of this lies in the social protest of 2011, in which consumer tolerance toward price increases has fallen. From here came the government and tried to create more competition and more mechanisms to prevent rising prices. For example - the cellular reform; Price comparison apps; Increasing online shopping, etc.
2. Reduction of prices initiated by the government in order to reduce the cost of living: lowering VAT, subsidizing government tenders, and lowering tariffs on cell phones, and so on. I.e. the government takes part of the state budget to keep the market prices low.
3.  Exchange rate appreciation. Was a long process of appreciation that lowered import costs and rolled to lower inflation.
 
 (
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· Inflation expectations for terms of two years and more remained anchored within the target range. In other words, the credibility of the inflation target regime has not been lost over time - and it was a sort of "siren."
· The question was asked whether real activity required us to take unique actions, such as setting a negative interest rate. There was a decline in growth in 2009, a recovery later, and in the years after 2013 onwards, we managed to maintain very reasonable growth in the Israeli economy of about 3.5 percent, that is, the fact that low inflation did not prevent the economy from growing.
· However testing the image growth components obtained is slightly different. • Private consumption pulled the economy upward - growth rates of around 4-5%, but the real weakness of the economy during this period was in exports - which grew by only 1.7% (whereas in previous years we also reached growth in exports of more than 7%). .
· • The crisis in exports stemmed both from the global economic crisis and from the appreciation of the exchange rate. The exchange rate was in a constant process of strengthening, which happened because they were caught in a world crisis and Israel became attractive - money flowed into Israel and pushed the exchange rate upwards, causing concerns at the Bank of Israel. However, in the past year and a half there has been a halt in this process, which has also enabled the Bank of Israel to raise the interest rate.
· What about the labor market? The unemployment rate in Israel is low. This means that it is difficult to recruit workers - and wages are rising. The real wage per employee post in the economy was fairly stable for a decade between 2000 and 2011, but in the last five years the real wage began to rise significantly, leading to inflation.
· As for housing prices - in 2009 was a significant reduction of interest rates in response to the situation in the world, and this led to a significant increase in housing prices: falling interest rate> does not pay to invest in the bank then buy apartments as an investment. In addition - a loan to buy cheap apartment> the visit goes up> housing prices are rising. The peak was about a year ago, when there has been stagnation and stabilizing housing prices since then.

Summary of the macroeconomic situation –

	Area
	2015-2017
	2018

	Zero inflation, lower than the target at the bottom of the target
	Zero inflation, lower than the target at the bottom of the target
	Zero inflation, lower than the target at the bottom of the target

	Potential growth rate
	Potential growth rate
	Potential growth rate

	Private consumption is led
	Private consumption is led
	Private consumption is led

	Exports dwindle at the potential pace
	Exports dwindle at the potential pace
	Exports dwindle at the potential pace


Why is it necessary to raise the interest rate? Over time zero interest rate is not a healthy state. There should be a price for money.

Class 4: Economics - 12/12/2018

What causes business cycles?
1. Market for demand - a sudden event that results in a temporary change in the aggregate quantity requested.
2. Supply market - a sudden event that results in a temporary change in the aggregate quantity produced.
3. Monetary policy.
4. One-time shocks.

Keynesian policy expands - one of two: a. Expanding government spending in the short term in order to encourage demand. It is important, however, to understand that there is no change in taxes. B. Reducing tax rates in the short term, in order to encourage demand, without changing government expenditure. You can also combine the two.
The assumption is that this is a theory that will help in the short term. In the long term it may increase the deficit.

The gross domestic product in 2007 is NIS 1272 billion.
GDP per capita 2017 (according to CBS data) - NIS 146,000.
If you want to compare the GDP to the US, you can divide the result into the dollar rate (146,000 / 3.74), but the exchange rate gives a picture only in the short term, and therefore another method is created - PPP - Purchasing Power Parity. Big Mac - How much it costs to buy Big Mac in the US, Israel and other countries.

The Gini Index - an inequality index, ranges from one (full inequality) to zero (full equality). This index compares a situation where everyone has the same income and the reality in which there are different income holders. We compare the uniform distribution with the actual distribution, and the comparison between them gives the Gini index.
 (
Disposable Income
) (
Economic Income
) (
Gini
 Index
)[image: ]




 (
The Surplus of Imports (
o
n Exports) In Percent of GDP
) Excess of imports over exports:
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From the establishment of the state until 1975 there is a large surplus of imports. Since 1975 there has been a trend of decreasing the gap. Since 2000 the situation has been relatively balanced in terms of trade - imports and exports are quite similar in scope. The significance of the balance is also the end of the deficit in foreign currency.
What is the composition of trade in the State of Israel?
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Most of our imports are from the US, Europe and other countries (mainly China).
Our exports are similar - exporting mainly to the European Union, Asia and the US.
In the first years of the country we exported mainly citrus fruits - 60% of exports. The rest of the exports consisted of agriculture, clothing and leather products. Today, the export components include metals and electronics (high-tech) chemicals (Dead Sea Works) and pharmaceuticals.

 (
Balancing mechanism
)When the dollar strengthens (shekel depreciation) -> exports increase (more shekels to the dollar) -> GDP increases
         Dollar weakens (selling more dollars, buying shekels) -> the value of exports is small

Monetary policy
When the Bank of Israel interest rate rises - the individual has to decide whether he saves or needs his money. The savings indicate that the more attractive the money put in the savings plan and the consumption decreases. This means that the product is also falling.
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Also, when the interest rate increases, the investment decreases. Example - If you want to set up a new plant, the financing is from loans, but if the interest rate increases and loans are rising and so will be less worthwhile to open the plant.
When the interest rate rises, the shekel will strengthen, meaning that the dollar will weaken. The implication is that the exports will hit and fall, and therefore output will also fall.
Of course when the interest rate drops, the situation is exactly the opposite: inflation rises, GDP rises and exports rise.
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The policy until a month ago was to buy dollars and keep interest rates low. These are steps that encourage growth, but with the potential of raising inflation. The potential disadvantage is that lowering interest rates can raise inflation. Since the Israeli economy is growing, given that fiscal policy is also broad, it seems that the time has come to raise the interest rate.
















Fiscal Policies
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The state budget embodies the activities of the central government.
The public sector, for example, includes the National Insurance budget (which has additional income).
The development of the public sector over time - The size of the public sector in Israel is quite similar to what is happening in the world. In the past, the public sector reached 80% of GDP. In the OECD only 10% are over 50% of GDP. There are also disadvantages to reducing public expenditure. If we look at public expenditure on citizens without security, we are relatively low compared to OECD countries. The debt / GDP ratio in Israel in 2017 was 60.8%. This is low relative to the OECD countries. Since 2008, taxes in Israel have also been lower by international standards, and they are also relatively low compared to expenditures.
 (
Public Expenses as Percentage of the GDP, 2014
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Distribution of public sector expenditure 2014, percent of GDP - total 40.1%.
Security - 6%, health - 5.2%, education - 6.3%, insurance and welfare (allowances) - 10.9%, interest payments - 2.6%.
And 20% more than other European countries (not OECD countries). In all countries of the world there is an increase in public expenditure throughout the 20th century. This is because public spending is a product called a "normal product." The demand for education and health increases as income increases and GDP rises - as happened during this period, and this demand is met both through the government and through the private market.

Israel compared to the world
• In security we invest more than in other OECD countries.
• Education: There is no difference between Israel and other countries in terms of investment in the education budget in terms of percent of GDP, but the comparison is not really indicative - because we have a lot more children than in other European countries and therefore practically each receives less. Therefore, the right thing to do is to examine the percentage of expenditure per student rather than the percentage of general expenditure out of GDP.
[image: ]
• Health - Israel does not invest much in health, it is also relatively low in terms of hospital beds relative to population size - but the satisfaction index is above the trend, the Israelis are generally 
satisfied with the health system and also have a relatively high life expectancy.
[image: ]
• Relief - All countries have a desire to help weak people. However, the increase in pensions comes at the expense of other sections and creates a negative incentive for work. This also means that the product in the economy is falling.
• Transportation - There is a significant increase in train travel in Israel, but the train journey per capita in Israel is still lower than in other countries. Road travel has grown significantly since the 1970s, but the area and length of the roads have not increased in proportion. The level of motorization (number of vehicles per 1,000 people) is on the rise. However, when examining other countries, the level of motorization is even higher there than in Israel.

Revenue
- Direct taxes: on the income of individuals and firms.
 (
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)Indirect taxes: VAT, customs and fuel tax Israel has high indirect taxes relative to the OECD.
 (
Indirect Taxes
) (
Direct Taxes
) (
Tax Structure
)[image: ]





Class 5: Economics, 19/12/2018 Dr. Yaniv Ringewertz

Micro-observation (at the individual, household, or firm level)
Macro - looking at a big time (at the market level and above.)

The labor market:
To produce need capital, technology and labor. That is why the labor market is critical to macroeconomic economics. Most of the economy is employed in the labor market, and therefore, micro-economics (in contrast to the individual: the level of income, inequality, the welfare of the individual, and the sense of well-being and satisfaction) is also significant.

The labor market reflects the number of employed persons, but mainly the percentage of employed persons and the level of wages.

Settings:
• Employed person - a person who works as an employee or self-employed. According to the CBS, a person who worked (even one hour) during the past week is employed, meaning that the term includes part-time workers (also very partial).
• Unemployed = looking for work (wants and can work), but not employed
• Participants in the labor force = Employment potential: Employed persons + Unemployed.
• Participation rate in the labor force = participation in the labor force in relation to the working-age population (15+.)

Distribution of Jobs in the Economy – Central Bureau of Statistics
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 The Israeli market is focused on services and commerce. Agriculture less than 3%, a substantial change compared to the establishment years of the country. A decrease in the number of employed persons in the industry, etc.

Another possibility is to look not at branches but by employment in actual jobs according to training and skills [image: ]
The type of occupation indicates the level of training and education. In other words, this graph indicates the employees themselves: what is the level of skills and skills.


The Average Wage in the Economy [image: ]

In recent years, the average wage has been rising in real terms (i.e., the wage rises more than the rise in prices). So the average purchasing power has increased in recent years and even sharply, recently. The problem: On average, we do not address inequality (for example, it is possible that only high-tech salaries have risen and they have raised the average above). It is also possible for the mercenary to identify business cycles in the recessions of 2009, 2002-3. In fact, it was only in 2014 that we returned to the level of 2001.


Annual unemployment rates:[image: ]

In the past two years (which do not appear in the graph), there is stabilization at a rate of 4%. This is almost the minimum level of unemployment that reflects the time of job search between work and work (in the economy with good employment, workers do not take the first job, but can wait a little and look for the good work). Apparently due to the transition of a managed interface (reduction of initiated works) to an open economy. I.e., short-term pressures to increase unemployment (creation distraction) in order to move to businesses that are oriented towards an open market (the equilibrium of a market economy and not of a planned economy[image: ]
All in all, we see that in contrast to the OECD, the numbers are very low and the countries with the highest numbers are those countries that are less prepared for the economic crisis.

 (
Women
) (
Men 
) (
In Total 
) (
Year
)Participation Rate in the Labor Force: Employed Persons + Unemployed [image: ]

Participation rates in the labor force out of the total working-age population (15+). In 2010, 57% of the total working-age population was employed. We also see that men work (or seek work) more than women (although we see that over the years there has been a doubling of women's participation in the labor force). In men there is an opposite process - men are work less / want to work less. In Israel there was a relatively large number of those who did not want  (
Men
) (
Women
) (
Arab Women
) (
Jewish Women
) (
Arab Men
) (
Jewish Men
)to work![image: ]
 (
Participation Rate over Time, 1970-2006
(Percent)
)
We see the growth rate among Jewish women and much less among Arab women who are still affected by cultural barriers to entry into employment. On the men's side there was a decline in the employment of Arab men until the level fell to a level in the Jewish sector. Part of the explanation for the decline is the increase in life expectancy (more and more are coming to retirement). Another part of the explanation - social norms (for example, in the 60s women tended to stay at home to raise children).

In recent years there has been a healthy state in which the rate of employment (the labor force) is rising, and on the other hand there is a parallel decline in unemployment. In other words, those who enter the labor market also find work. In fact, quite a few professionals are missing.

In the past, the Israeli economy was characterized by the fact that the Histadrut labor federation almost 80% at the beginning of the road, up to 20% today. In other words, today the economy is more flexible and dynamic, but workers have less power and rights. The decline in organized employment is a phenomenon now we are around the world median. In a market of organized work, where it is difficult to dismiss - employers tend not to employ in advance so as not to face the difficulty of dismissing in the future. This means that employers have difficulty adapting to changes in the economy.

 (
Rate of Unionized Employees
)[image: ]
Foreign workers: a very significant phenomenon in the Israeli economy. With time less Palestinians and more foreigners, with a trend of convergence in recent years.

Wage level by education: There is correlation, that is, there is a correlation between education and higher wages.

Participation by Sectors in Employment [image: ]
Among the women: the rate of employment of Haredi women in a trend that converges to the average. Non-ultra-Orthodox Jewish women lead the employment of women, compared to very low numbers among Arab women.
Among the men, the ultra-Orthodox are far behind the other groups. Arabs and Jews work quite similarly (slightly less) than the Jews.


The relationship between the economic situation (according to quintiles and not deciles) and employment (and, in effect, wages):
The relationship between the economic situation (according to quintiles and not deciles) and employment (and, in effect, wages):
[image: ]

We see the clear connection between the number of employed persons in the household and the economic situation. There is also an increase in employment participation over the years, and the lowest quintile has narrowed the gap in recent years. In part because of the significant cuts in allowances that significantly reduced the motivation to remain outside the labor market.
 (
Child Allowances per
 Family, b
y Family Size
)
[image: ]

The cutbacks in benefits from 2001 (NIS 4,000 to four children), which fell to half of that in 2007, are striking. In fact, there is an incentive to work because the sources of the economy have narrowed (for example, an incentive to work for a spouse). Another case is unemployment benefits. If wages are low and the pension is high, it does not pay to work. What was the impact of the reform?
 (
Number of Children 
) (
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 Women
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After the reform
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R Pseudo2 
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 men
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) (
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 (
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)
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The
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"
)
)[image: ]
Flexibility of labor supply relative to income => Change in labor supply (in percent) as a result of a change in non-employment income. We would expect a woman with two children who experienced a larger cut to participate more in the workforce as a result (statistically significant asterisks). Families who have experienced a smaller cut have increased their work in less. In other words, it has been proven that cutting the pension is pushing the labor market. The bigger the cut, the greater its impact on joining the labor market.
When women are cut by 10%, their labor supply will increase by 7.7%.
In a similar cut for men, the labor supply rose by 5.5%, meaning that the reform significantly increased participation in the labor force.

Capital Market:

It is possible to analyze a micro-capital market (in itself) but mainly in macro-economic impact.

In the capital market there is a meeting of borrowers and lenders: (a market of loans) on the supply side - the desire for savings. Along with demand for (money for) investment. The price is the interest rate. If there are many savers (a lot of money available) and there are not many investors who need the money - the price of money (interest) will be cheap => the decline in interest. [And vice versa].
Regulators of the capital market: the Securities Authority, the Capital Market Authority, Insurance and Savings, Bank of Israel
Instruments in this market: loans, mortgages, government debt.
Financial intermediaries: banks, stock exchange, insurance companies, pension funds, credit card companies. Mediation has a critical meaning that intermediaries receive a very large part of the decisions (what and when to invest): Most savers invest through a mediator (such as our pension).
Each type of loan has a different price (interest): mortgage, short-term loan, etc., usually according to the following criteria: time (duration of the loan), mainly risk (on the part of the borrower and the lender), collateral (the better they are, the risk is reduced), macro economic situation (The Bank of Israel interest rate as an alternative, recession or growth).

Types of financial instruments (on the supply / savings side):
A. Bank savings plan: Very low risk to savers, low interest rate.
B. Debenture - a debenture issued by a government or a private company (corporate bonds). This is actually a contract between a borrower and a lender with an obligation to interest at the end of a period, together with repayment of the loan. Government bonds are usually low risk (except in countries that go bankrupt) and therefore the interest rate is low (yield / interest -> risk payment).The corporate is more dangerous and depends on the stability of society. If a company is about to go bankrupt, there are "haircut" arrangements in which the debtors receive partial repayment of the debt and the company avoids bankruptcy.
C. Share - partial ownership of a company. The shares are mostly tradable. The yield obtained from a share derives from two sources: a. Dividends distributed by the company (if there is a profit and a decision to divide ...) B. If the company grows and develops -> The company's value increases - The share value rises - A company can decide to distribute a dividend or invest in future profits, , In a sophisticated market) to an increase in the value of the company and the value of the shares.
D. Funds - a financial entity that collects money from savers and invests in accordance with the fund's policy, in order to: a. generate profit while using economies of scale. b. Diversification in investment (again, advantageous to size) that reduces risk.
E. Options and Derivatives - The right to purchase a share at a predetermined price. The value of the option is determined according to our assessment of what the share price will be in the future. If we have an option to buy cheaply from the future market price - a big profit. If we have an option to purchase at a price that is higher than the market price - the option is worthless and we lost all the investment. At the same time there is an option for a future sale (even if you have not purchased) - a put option.


The Relationship between Yield and Risk: Shares versus Bonds[image: ]




There is often a correlation between financial markets around the world, due to mutual influence.

 (
The Public's Asset Portfolio by Type of Assets
, 2007 & 2008
) (
Government Bonds
) (
Private Bonds
) (
short-term
 loan
) (
Stocks and Stock Options
) (
Israeli Investments Abroad
) (
Other
) (
Cash and deposits
)[image: ]

A large portion of public funds are in the bank (available for use). A little of the money is invested abroad, that is, a division into sixty: 1/3 cash, 1/3 bonds, 1/3 investment with risk. In 2016, the public has NIS 3,549 billion (deposits, bonds, short-term assets). Three times the GDP!
In the next lesson: inequality

Exercises:

In the first exercise, it was necessary to recognize that it was Keynesian to encourage growth in the short term.
In the second exercise: we must explain the changes we propose to make in the budget - to show an existing budget against a vision and to explain the changes and the expected consequences for the economy.


1
image3.png
NIXMTN NNND INDINDIL YPD

: KJ\M\

1958 1961 1984 1967 1970 1973 1976 1979 1982 1985 1988 1991 1994 1997 2000 2003 2006





image4.png
I0IONYNHOINDX 1IN





image5.png
ANNONNR NI DN

%00
200
700
600
500
400
300
200
100
00

1
100

200

BV MO NG NN 2018 Nvy1 D





image6.png
DNINNI NN





image7.png
DYYTIN TPSZOPN WY

0w 0 0w 0TI
783735





image8.png
21391 NON NINIIN

1989 | 1988 | 1987 | 1986 | 1985 1984 | 1983 o
207 164 | 161 196 | 1852 4449 | 1907 tromn
89 64 61 71 67 59 45 o
998 1011 | 94 88.4 820 901 | 905 R
(m)

55 25 00 40 13 147 67 WA
(2xm %)

602 608 | 623 648 | 705 752 | 700 %) ey
(xm

133 141 | 159 172 | 202 205 | 182 inoa
49 58 59 58 8.1 1 12 nivan
546 583 | 623 685 718 605 | 633 *)nioon
(xm

390 430 | 454 470 | 442 371 | 436 (an %) won
1 401 | 452 560 739 784 | 691 n
(e %02

5330 4091 | 5924 | 4703 | 3719 3008 | 3694 on non
u3 | 462 | 619 615 | 4437 7710 | 1816 e





image9.png
W TI
08

o non
0s

045

04

0z
foe 1eee we e e 2000 2008

2018809 pn




image10.png
3000

200

2000

1500

100

00

00
1983

A¥INNN NN N N

\ A

oy an

198

20

2008 a1

201883t PR




image11.jpeg




image12.wmf

image13.png
AN ONINNI (NIXON DY) N12OD 9Ty

N

\

A
NIVANVNY
NIERVAV

Wy

VA

\

1950 1960 1970

1980 1990 2000 o1~





image14.emf
 


image15.emf
2001 1913  1820  1500  1000  ʤʰʹ  

19,256 3,458  1,204  771  400  ʤʴʥʸʩʠ�ʡʸʲʮ  

26,943 5,233  1,202  400  400  ʺʥʩʡʸʲʮ�ʺʥʧʥʬʹ  

20,683 1,387  669  500  425  ʯʴʩ  

3,256 658  577  572  450  ) ʯʴʩ�ʠʬʬ ( �ʤʩʱʠ  

5,811 1,481  692  416  400  ʺʩʰʩʨʬʤ�ʤʷʩʸʮʠ  

5,038 1,558  686  498  400  ʤʴʥʸʩʠ�ʧʸʦʮ  

1,489 637  420  414  425  ʤʷʩʸʴʠ  

 


image16.emf
2010  2000  1990  1980  1970  1960  1952  �­ª¬  

  2.3    2.3    4.5    5.6    7.9  14.5  14.6  �´��¦±¡  

21.7  25.5  28.5  26.3  34.8  28.5  24.4    ) ´�²¥¨� ( ��£³¬´  

  9.6  10.2  11.0  13.7    14  10.9  11.6  �¦¨³¡�¦¦�¥ ( ��£ª�   ) §£¨�  

66.4    62  56.0  54.4  43.3  46.1  49.4  �§£´�²£³  

 


image17.emf
 


image18.png
1955 | 1954 | 1953 1952 | 1951 e
136 | 194 | 14 44 | 304 S
231 | 116 | -163  -140 | 182 wren
162 | 166 | 50  -15 | 213 I
76 | 149 | 34 73 | 224 I
28 | 424 | 29 309 | 392 -
74 | 92 | 115 s 8.1

703X





image19.png
1969 | 1968 | 1967 | 1966 | 1965 | 1964 my
12.7 15.4 23 1.0 8.0 9.2 ax¥in
26.5 489 | -225 | -16.2 0.6 212 nypwn
15.8 8.7 33.5 9.5 114 13 nNRY DNY
10.0 136 2.1 2.1 8.7 8.2 n'019 NONX
6.9 27.7 8.3 10.5 8.4 3.8 NIX"
45 6.1 10.4 7.4 3.6 3.3 702X





image20.png
1991

1990

1988

1987

1986

v

6.1 6.6 14 3.6 6.1 36
a¥m

428 259 -2.0 1.8 6.0 73
apwn

16 46 76 -9.2 -2.5 18.2
NN DY
72 6.0 05 4.7 8.9 15.1 FO—
-2.8 2.0 41 -15 10.2 56 Xy

101 9.6 8.9 6.4 6.1 71

703X





image21.png
2000 | 1999 | 1998 | 1997 | 1996 | 1995 my
89 37 43 39 58 6.5 a¥n
17 6.9 27 05 84 84 npwn
16 24 26 26 52 -1.0 NN MY
86 40 6.0 3.7 57 78 n'079 MY
234 14.6 6.2 9.1 6.1 10.0 NIy
88 89 86 75 6.6 6.8 n70ax





image22.png
2006

2005

2004

2003

2002

2001 | 2000 my
5.8 4.3 5.1 1.1 -0.1 0.1 8.9 ax¥in
7.4 8.0 3.9 5.9 93 | 23 1.6 nypwn
3.5 19 | -18 | 229 53 33 16 nNRY NdIY
5.0 3.4 53 0.2 16 3.9 8.6 019 DY
4.8 46 | 174 8.0 22 | -118 | 234 NIX"
8.4 9 104 | 107 | 103 93 8.8 n70ax





image23.png
2012 | 2011 | 2010 | 2009 | 2008 | 2007 me
30 | 42 | 57 [ 19 | 35 | 63 S
47 | 176 | 119 | 46 | 25 | 83 waun
36 | 27 | 28 | 29 | 23 | 24 AR Ay
31 | 29 | 46 | 22 | 15 | 78 05 Aoy
09 | 65 | 151 | 119 | 64 | 104 e
69 | 67 [ 75 | 76 | 61 | 73

701K





image24.png
90.0

80.0

70.0

60.0

50.0

40.0

30.0

20.0

10.0

0.0

19
-10.0

200





image25.png
P man

SNV





image26.emf
 


image27.png
1954-2008 - T ona "It yavnn Y 'awnn 1'9'1Nn WY

- 100262
167% v nine
1$=r"43.00

-010154
/7 1$=r"41.80

A3 -y yam Wen -

o m yam Wwen -
i vy -y

nIYaLnn 10 9"y ¥ap Wwwn - 07.76-10.77

1954
1957 4
1960
1963
1966
1969
1972 4
1975 4
1978 4
1981 4
1984 4
1987 4
1990
1993 4
1996
1999 4
2002 -
2005 -
2008 -

INIW' 112 :D2IM




image28.jpeg
.1.2% -1 NNV DNKD D'YTIND 12 -2 - Y7080 .2
X" 712 NN AXTOIND QX rare A

(0annk ' 12)

5.0%
2.0%
3.0%
2.0%
10%
0.0%

-1.0%

2.0%

-3.0%

MAN:TIAW, U070 :Mpn





image29.png
M TN
0

085
o a0mn

0s

045

0s

0

025

0
1979 1984 1980 1904 1999 2004 2000

2018x38: PR




image30.png
ANIN OVINNA (NIN1A 5Y) 121N 91y

N

A
NA M A
V/

NVl
N

50 1960 1970

1980 1990 2000 oo





image31.png
mmmmmﬁvw&mm@

‘nrnon Mt
2017 2000
>
= s
nrnon
2017 2000

W E roew @ o [l e B





image32.png
7innn Ypw





image33.png
NV NN DTN

. [P e |
o




image34.png
Figure 6.1
I’ Fscal Aggregates Compared with the OECD Average?, 2000-17 ercentofGoP)

Thecyccaly austed deticc et o the cenrsl governmant=

N~
POPIIIEIPPTRTETTRR  FPPPIIPEPFCESTE RS

[ree—— Primary cutian expendiors

e S

tskbonsan

BRBsrssBRSE
BEsgsses e
E;

FELEIELELLST L0 FEEETELSEE ST




image35.png
g

B

g

B

o

2014 MV ,73IN YNNI NPNDY MINIIN

FEEPELF LSS if@”ﬁx’ﬁf EES ST S

2018 NPV : PR





image36.png
08.20

EXPENDITURE ON EDUCATION PER STUDENT
IN SECONDARY EDUCATION AND GDP PER CAPITA
IN SELECTED OECD MEMBER COUNTRIES
2014

=
2
s
3
o

Australia [JR]
Finland [T
South Korea (I
New Zealand [JII]
Slovenia (I
Estonia [

Caech Republic [T

United States [T
United Kingdom [T
Netherlands [T

mExpenditure per student in secondary education + GDP per capita

(1) Converted using PPPs.

Source: OECD. V 4
Published: 19.09.2017. VAV





image37.png
o608

IN OECD MEMBER COUNTRIES
2016

CURRENT NATIONAL EXPENDITURE ON HEALTH

409 4o oBejusosog

o
Bnauenm
oupg

w3
vy ez
o,

s

o uros
e

oo

oo
pinung

o

e

ummeg son
s
weptun o
ey
wneps
fonon
oo
ey

uipns.
o
[
msponn

H
:

‘Source: OECD.





image38.png
[=livalalpphintal

200

250

200

150

100

50

00
1960 1970 1980 1990 2000 2010

2018809 pn




image39.png
1806

JOBS IN INDUSTRIES (2011 CLASSIFICATION)
2014

Arts, entertainment Agiculture, forestry
and recreation and.
other service: 27% Manufacturing;
actvities mining and quarying
67% 127%

Electriclty and water
‘supply, sewerage
and waste

management
10%
Construction
69%

Wholesale and retail
rade and repar of
‘motor vehicles and
acoommodation and

food service activties

Data based on: CBS, Survey of Industres.
Published: 13.092017.




image40.png
1208

TOTAL EMPLOYED PERSONS,
BY OCCUPATION (2011 CLASSIFICATION)
2016

'Data based on: CBS, Labour Force Survey.
Published: 08.08.2017.




image41.png
(@ Average Wages per Employee Job at Constant Prices, Linked Indices, Base 1978 = 100

A RA 4

L
EEYEEEIEEIEE

2002
=3
2010
2012
201
206




image42.emf
 


image43.png
1218
PERCENTAGE OF UNEMPLOYED PERSONS AGED 15 AND OVER OUT
OF TOTAL LABOUR FORCE IN OECD MEMBER COUNTRIES
2016

e
pueeon

o
e ez
oo
pusivg.
fonon
otk poun
v poun,
oy
ummeg son
-
veuisg,
sy

oo
ey
e
wneps
eusos
oo

o
e
s
o

giNReeyyeoevao

Published: 09.08.2017.

soBejusosog





image44.emf
2010 2000  1990  1980  1970  1960  1955  ʤʰʹ  

57.3 54.3  51.5  49.5  49.3  52.9  53.6  ʬʫʤ�ʪʱ  

62.2 60.8  62.3  63.7  71.8  78.1  80.1  ʭʩʸʡʢ  

52.7 48.2  41.1  35.7  28.8  27.3  26.5  ʭʩʹʰ  

 


image45.wmf

image46.png
DYTINNDN DPONNN WY

10000
000
000
6000
000
000

1000

0
055 1985 1975 085 1995 2005




image47.png
Figure 8.3
‘Employment Rates, by Population Groups, Gender, and Age, 19952016+

%
3

Women
—

w

m/-_ﬁ

-

o

“

o El

= —

o 3B 88588388 8"

= The ure eer 1 th prme wrking 3 (25:54). Ok rfers o wamen 390 55.5 e aged $5.64..

'SOURCE: Based an LaborFarce Susveys by e Cantal reay of Satscs. Between 2011 and 2012 ere s  brcakin
e Sorien 6up 10.changos I the survey. The dats are ot Concatnatod.




image48.png
Figure 85

Households Aged 25-54, by Net Income Quintils, 1997-2016

B. Average Number of Employed
People n Houschold®, 1997-2016.

g%

A. Share o Houscholds That Include an.
Employed Person, 19972016

20 W—‘&%mw“ =
o~~~

‘Socond o owsstqitle

A

8 5828 33 8888S

/"\mm quntie

J

Lovestqunie





image49.png
NNAYNN 27N 197 ,NNAVND DITI> NININP

£ 5 ¥ 7 & F &

e )

&





image50.png
("9'%>0127) DT ONNY NPIYNA NN NYOVN

MrNUNRT MR

© (5) @ (3) @ s}

76 &s 54 43 2 1 10 908
N TININPE R K

4% 7% 7% 21% “20% 230
¢ 7 o - (2003 255 11900 D1
. . 0% e - - TININPR WA IR
i ® e (2003 NX 1To0Y DT
DN DN
00006  -00203 00132 00186 00198  -0.0116 o 0vn
©0377)  (0.0339)  (0.0201)  (0.0106)  (0.0056)  (0.0048) Anmen e
1206 2913 8471 659 5371l 75,700 nveynn 1808
o121 o021 oo 00929 00922 01089 R Pseudo?
oM .2 %N
00171 -00030 00261 00218 -0.0050  -0.0044+ o0 2000
©027) (00169 (00116  0007)  (0.0037)  (0.0020) Anmen e
1456 3497 9,930 i sTma LS nveynn 1808
00007 00697 0.082 00489 00478 00736 R Pseudo?

2018 YN )

non




image51.png
1704

GENERAL INDEX OF SHARES AND BONDS TRADED ON THE STOCK.
EXCHANGE, DEFLATED BY THE CONSUMER PRICE INDEX
Base: 1991=100
19952016

Price Indox
2388888858

Indices, deflated by the Consumer

'Data based on: CBS, processing of data from the Tel Aviv Stock Exchange.
Published: 13.07.2017.





image52.png
517N
2008-) 2007 ,DYUN MND 8P NN YW DO >N 20N
(Mv>10)

2008 2007

24%

] TP
PO - anx
NPTOUHD AN EE 502 SN 20 MYPYN
YIS LS TR

570 P11 58 NPVDILLTS NIV DY : NPEA




image1.png
mw 197 1xwr'? 0y 1son

n's'7821,2008 -1919

300

250

200

150
100

50

900C
€00C
000C
1661
¥661
1661
8861
G861
2861
6.61
9.6}
€161
0,61
1961
961
1961
8561
G661
2661
6v61
o6l
£V61
ov6lL
L€61
6l
Le6l
8261
G261
{443
6161




image2.png
(2005 >7>N) NPY 295N WA NN





